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a =N KA =IP; =IP; KA
2x2/DFIH= SUHAH/2UA | ZUA/ZUA | 2UAH/2UA | ZUA/ZUA | U/ 20U
= . SUHAH(BIR)/Z | ZUAHER)/2 | 2UIAHEIR)/Z | ZUM(EIR)/2 | 2UaH(EIR)/2
AMDINBR)/NEE yé yé it it yé
HXDII/ B YA/ 22U A | ZUA/ZUA | 2UAH/2UA | Z2UA/ZUA | U/ 2
S|/t BE YA/ 22U A | ZUA/ZWA | 2UAH/2UA | Z2UA/ZUA | 22U/ 2
Q2DIN/NEE SUAH/2UA | ZUA/ZUA | 2UAH/2UA | ZUA/ZUA | U/ 20U
X /IR E =244 =24 =24 =24 =24
e/ IIRE 21 Al OFAH/ 21 Al OFAH/ 24 AlOFAH/ 24 AlOFAH/ 21 Al OFAH/
DEN/IIEE 2L 2L YA YA 2L AL
2R /RE LA YA LY A LY A YA
QEN/IIBE LA E NPT, LY A LY A YA
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CHaol/Jt2 = 21O AH(2H) UL AH(2H) 2 AH(2H) 2 AH(2H) U AH(2H)
=R0I/IIRE HIE o/ HIE o/ HIE <t/ HIE <t/ HIE o/
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HID
goa | BF | =8 | F8 oores oores oores fore Hore
mox | g3z | g3
OlA Xl (kcal) | 745.74 | 745.74 | 779.3 746.3 713.9 898.7 783.5 753.9
Er4312(g) 108.5 9.7 119.4 133.5 95.7 97.3
SN (g) | 19.06 | 19.06 36.5 3.2 34.3 34.9 39.0 42.3
WELE)) 24.0 28.4 12.6 28.2 28.3 2.5
HIEFBIA(R.E) | 167.34 | 232.31 211.4 257.2 268.9 362.4 79.2 89.3
ElOt2I(mg) | 0.31 0.37 0.7 0.6 0.7 0.6 0.7 0.7




clEEcte 0.38 0.44 0.6 0.6 0.6 0.7 0.3 0.6

(mg)
HIEFRIC(mg) | 23.52 30.25 26.0 36.6 18.6 42.7 10.1 21.9
2&(mg) 253.17 | 310.63 253.3 225.3 298.9 275.9 185.0 281.2
& (mg) 3.83 5.02 5.2 5.5 4.8 6.7 4.6 4.6

AUA = AAAHTFY] +£10%, 74U = e3E(55~65%) - Tl (7~20%) : AHH(15~30%)
1g9 MR (kcal) &= ©3tE 4, @A 4, AW 9kcal 2 4
THAT AHAF = T3 AT I §F / AL
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7] 17.94 8. 27 (=, 1%, & £3) 19.%



